Energy Review
Part 1 -- Matching

___ 1. A simple way of showing what eats what


a. ATP 

___ 2. An organism which feeds on other animals for its

b. decomposers


 food energy.






c. ecology


___ 3. The ability to do work.





d. ecosystem 

___ 4. Organisms which break down dead plant and animal

e. energy


 material for food energy.




f. food chain

___ 5. Shows the amount of available energy at each level of 
g. food web



a food web.






h. photosynthesis

___ 6. Green plants which change sunlight into food energy.
I. primary consumers

___ 7. A number of interconnecting food chains.


j. producers

___ 8. Organisms which eat green plants or their products to
k. pyramid of energy


 get food energy.





L. respiration

___ 9. All of the living communities of an area, along with the
m. secondary consumers


non-living parts of their environment.

___ 10. The study of the relationship of living things to other 


living things and to their environment.

___ 11.  The manufacturing of food from carbon dioxide and


water in the presence of sunlight

___ 12.  The source of energy for our cell activities

___ 13.  The release of energy from food

Part 2 -- Multiple choice

14.  The ultimate source of energy used in the food chain is:  
(a) coal
(b) the soil
(c) the sun

(d) water
15. The greatest total amount of energy is found in: 

(a) decomposers
(b) primary consumers
(c) producers
(d) secondary consumers
16. Organisms that transform the energy of the sun into forms usable by other living things include: 

(a) deer, rabbits and cows
(b) fungi and bacteria
(c) grass, trees and flowers
(d) lions, wolves and sharks
17.  Which of the following represents the flow of energy in the food chain?  

(a) Hawk--seeds--bacteria—sparrow
(b) seeds--sparrow--hawk—bacteria
(c) Sparrow --seeds--hawk—bacteria
(d) sparrow--hawk--bacteria--seeds

18. One winter, seven sailors were shipwrecked on a barren arctic island that had water but neither soil nor vegetation.  A crate of corn flakes and one containing seven hens are also cast ashore with them.  In order to survive as long as possible, the sailors should: 

(a) eat the cornflakes, giving none to the hens, and then eat the hens as they die of starvation.
(b) fed the corn flakes to the hens as long as they last and then kill and eat the hens 

(c) feed the cornflakes to the hens and then eat the eggs which they produce  
(d) kill and eat the hens and then eat the corn flakes  

19. Which of the following is NOT true concerning energy?
(a) enters the living system at the producer level

(b) is returned to the producers in the form of heat
(c) it is passed from one organism to another
(d) it leaves the living system in the form of heat
20.  Which example of living material requires the greatest total expenditure of energy to produce?
(a) 1 pound of grasshoppers

(b) 1 pound of mice
(c) 1 pound of snake
(d) 1 pound of soft green grass
21.  In an overpopulated country, the people would get the greatest amount of food energy from their land by raising:  
(a) secondary consumers
(b) primary consumers
(c) plants
(d) tertiary consumers

22.  As energy is passed along the food chain, most of it is lost as:  
(a) electricity 
(b) heat
(c) light 
(d) sound 
The following data was obtained from a study of a grassland community in Utah.  80% of the land was covered by wheat grass and 20% by weeds.  However, after several years of heavy grazing, the wheat grass began to disappear and other weeds began to take over.  Also during this time it was noted that the hawk population had decreased due to hunting and the rodent and rabbit populations increased.  Finally, the ranchers, realizing that their grasses were disappearing, removed their cattle from the fields so that the grasses could be rested.  However, the grass did not return to normal as quickly as the ranchers thought it should have.  Answer the following questions (23-27) concerning the above data:

23.  A food chain in the above situation would be: 
(a) cow--hawk—weeds
(b) producer--secondary consumer--primary consumer
(c) weeds--rodents--cows  
(d) wheat grass--rabbit—hawk
24.  The most important producer in this community is:
(a) cow 
(b) weeds 
(c) wheat grass  
(d) rodents

25.  The secondary consumer of the community is: 
(a) cow  
(b) hawk  
(c) rabbit
(d) rodent  
26.  If the ranchers had not removed their cattle from the range, the: 
(a) hawks would have died out

(b) percentage of weeds would have increased  
(c) rabbits would have increased in number

(d) wheat grass would have eventually grown back  
27.  A solution to the problem would be to:  
(a) kill the rabbits and put the cattle back on the range.

(b) put the cattle back on the range 
(c) reseed with weed seed
(d) stop hunting hawks and rotate cattle grazing  
The following questions (28-34) are based on this diagram:
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28.  The best examples of primary consumers would be: 
(a) gophers and frogs
(b) insects and seed-eating birds  
(c) insects and spiders

(d) rabbits and hawks
29.  It would be expected that:  
(a) fewer insects are found than frogs 
(b) more coyotes are found than rabbits 
(c) more snakes are found than gophers  
(d) more spiders are found than insect-eating birds
30. Spiders and snakes are best classified as: 

(a) decomposers
(b) primary consumers
(c) producers
(d) secondary consumers
31.  If all the rabbits died, the coyote population would:
(a) decrease
(b) disappear
(c) increase
(d) not change

32.  The organisms that would be most effected if all pocket-gophers died would be:

(a) coyotes
(b) hawks
(c) snakes
(d) spiders
33. According to the diagram, coyotes feed on: 

(a) frogs and rabbits
(b) grasses and shrubs
(c) rabbits and gophers
(d) spiders and birds
34. A campaign by sheep ranchers to eradicate (kill all of the) coyotes throughout the area could lead indirectly to: 
(a) a decrease of hawks
(b) a decrease of rabbits
(c) an increase of insect eating birds

(d) an increase of snakes
For questions 35-36, select the best answer to the statements that describe the following diagram:

Grass--------> Grasshoppers ------->  Frog ------->  Snake ------> Hawk ----->

35.  The diagram above shows:  
(a) a food chain
(b) a food web
(c) a population
(d) an ecosystem
36.  Which organism uses sunlight to make food:
(a) grass
(b) grasshoppers

(c) hawk
(d) snakes
Matching -- a response may be used more than once or may not be used at all.

___37.  The manufacturing of food from carbon dioxide

a. ADP 


 and water in the presence of sunlight



b. ADP, P, and energy 

___38. The ability to do work





c. AMP

___39.  The source of energy for our cell activities


d. ATP

___40.  Organism that produces its own food from sunlight

e. autotroph

___41. The release of energy from food



f.  carbohydrates and water 

___42.  The substances required for photosynthesis


g. carbon dioxide 

___43. What is released during the light dependent phase

h. carbon dioxide and water

___44.  When ATP is broken into ADP and P, this is released
i.  chlorophyll

___45. This is required to form ATP




j.  energy

___46.  An organism that must eat another organism for food.
k. heterotroph 

___47.  The green chemical that allows light to be absorbed.
l.  oxygen

___48. The products that are released from photosynthesis

m. photosynthesis

n. respiration

o. water, carbohydrates, and            oxygen


49.  List 4 forms of energy (4 pts)

50.  A measure of the amount of potential heat energy in food is called a ___________________.

51.  List three factors that affect the rate of photosynthesis.

52.  Without ATP, what will happen to your cells?  What will happen to you?

The following diagram shows the feeding relationships in one woodland community.  The arrows point toward the dependent organism.  For example, frogs, eat insects.


53. According to the diagram, sparrows feed on

(A) grasses and mice
(B) insects and grasses
(C) lice and insects

(D) Mice and trees

54. The longest food chain in the diagram links 6 different organisms.  That longest food chain runs from:

(A) grasses to deer
(B) grasses to worms
(C) trees to lice
(D) trees to wolves

55. Which of the following animals are natural enemies of snakes?

(A) gophers and mice

(B) hawks and weasels
(C) mice and hawks
(D) weasels and gophers

56. At the base of the network of feeding relationships are independent organisms that do not feed on other organisms.  In our woodland, which organisms are at the base of the network?

(A) frogs and snakes
(B) grasses and trees
(C) wolves and bobcats

(D) worms and lice
57. A campaign by chicken farmers to eradicate (kill all of the) weasels throughout the area could lead indirectly to:

(A) a decrease of hawks
(B) A decrease of snakes
(C) an increase of bluejays
(D) An increase of bobcats
Key
1. F

2. M

3. E

4. B

5. K

6. J

7. G

8. I

9. D

10. C

11. H

12. A

13. L

14. C

15. C

16. C

17. B

18. D

19. B

20. C

21. C

22. B

23. D

24. C

25. B

26. B

27. D

28. B

29. D

30. D

31. A

32. C

33. C

34. D

35. A

36. A

37. M

38. J

39. D

40. E

41. N

42. H

43. L

44. J

45. B

46. K

47. I

48. O

49. LIGHT, HEAT, CHEMICAL, MECHANICAL

50. CALORIE

51. amount of light, intensity of the light, amount of water, direction of the light, temperature

52. They die; you die

53. B

54. B

55. B

56. B

57. D
